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Practice Test

Show all work, Ansrvers without adequate iustilication rvill not receive full credit. Solve
problems algebraically whenever possible. Simpliry to the lowest terms.

Be able to do this do a calcuiator:

1) (9pts) Match the gaphs widr the equations.
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-----The rcst is a calculator Active exam-
2) (10pts) Fill in the following table:

Function t-intercept Grorth or
decay?

Growth or decav rate

?a{,?J) o (0,22) Decay 8olo annual mte
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3) (8pts) Granny wants to start a college account for her ne*born granddaughter. How much

S,lr Do. P( l'ooh:\
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money does she need lo deposit now i"lo an accolrnl eaqing 3oo

will be uorlh $30.000 in I 8 years? ^'?\1tt7l ,,/<

3oooo= P (l* T) ' (



I

d) When there will be 700 rabbits? a , 4 1 ,^ n a.
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4) (8pts) The population, P, of a group of rabbits / yea$ afler being released in a new habital is

given by P(r) = 600(1 04)'

a) How many mbbits werc initially released? b0 D

b) Fillin the blank: The rabbil popularioD is growing by f'0"'r"'

c) How many rabbits will there be in 2 years? t"lV

5) (15pts) Solve the following forx

a) 2tog,(2x - s)= t

logrc)x-r\= )
3?= )x.-c fi+ i' )r,

b) 3(4)'-'z = 18
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6) (1opts) Fitrd a fomula for an exponentiai tunction such thatl-l) = 12 atd,fll) = 3
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7) (4pts) Rewrite as a single logarithm: 3log(;v) +4log(y) -1og(z)

fog x3"t- Loabr 'luz
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(8pts) Solve for ,, log(, + 48) + log(r) = 2
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9) (6pts) Bismuth-214 has a half-lift of20 minutes. What percent ofthe original amount is left
afler one hour?
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10) (10pts) In 2003, there were 7225 Starbucks stores. In 2006, there were 12,440 Starbucks
stores. If Starbucks continues to increase exponentially at the same rate find the dor-rbling
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Write the equation foi the population ofthe Cook Islands. C(f -

time.
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l1) (12pts) The Island ofNiue is currently home to 5000 people. and the population has been

gto*t!g_!941w81y..!L11". The Cook Isla,rds are cuirently home to 20,000 natives but
the nativffipLrJation has been continuously decre$ing b) 5 o o each ) ear.

Wdte the equation for the population of the Irt*A of Nlu". ff14 = S? I Oe.' 
fi f
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